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MATHEMATICS/ wifota

Class - X/ a&lm - X

Time allowed : 3 hours Maximum Marks : 80

Freffta wwa : 3 v Sifirehaw 31 : 80

General Instructions :

(i)
(ii)

(iv)

v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section-A comprises of 10 questions of 1 mark each, Section-B comprises of 8 questions of 2
marks each, Section-C comprises of 10 questions of 3 marks each and Section-D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choices have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

T e :

(i)

g+ft v arfrar €1

70 U 9 A 34 WA ¥, f wR @uet o, &, WA g A wie w1 1 @ue-at 7 10 v ¥ fr
WEIF 1 3 H 8, WUs-a A 8 ¥ € Fd wclen % 2 3 €, @ue-w # 10 7 ¥ o vl %
3 3ich & 9o WUe-g H 6 4o ¢ fri 9 & 4 3fh T

@ue-3t # Y G 1 9 10 7 sgfahedia T § Wi eyl 9R faedi # A uw we faeheq
TR

78 A o H E oft e faehed @ R, Afea siiafn fawed 2 stet % uem v H, 3 ot &
3 WA 3R 4 afent % 2 vl Ry e ¥ | T W H u fased w1 e w
Sergpeiet 1 ga afsq g1

Page 2 of 9





[image: image2.jpg]SECTION-A / @US-3{

Question numbers 1 to 10 carry 1 mark each. For each of the questions 1 to 10, four
alternative choices have been provided of which only one is correct. You have to select
the correct choice.

v W 1 R 10 7 W U 1 3% w1 3w W § weieh & o = feree fad
T ¥ i A e U W@ ¥ wd fawen gft)

If the discriminant of the equation 6x2—bx+2=0is 1, then the value of 'b"is :

@A)y 7 ® -7 © =7 D =7
affe Tl 62— by +2=0 1 faferd 18, @ ‘b HAA F

») 7 ® -7 © =7 o) =7
The next term of the A.P.: 3,1, =1, =3 ....... is:

A) 5 ® -4 © -5 D 0
THE 4 3,1, -1, —3. T A UG B

A) 5 ® -4 © -5 D 0

The length of the tangent drawn from a point 8 cm away from the centre of a circle of
radius 6 cm is

(A)  J7em (B) 247cm (© 10cm (D) 5cm
6 cm T 19 96 % e @ 8 om g folg & i< v v e €
A)  7em ®B) 2J7m (C 10cm (D) 5cm

If the angle between two radii of a circle is 130°, then the angle between the tangents at the
end points of radii at their point of intersection is :

Ay 90° (®)  50° © 70 D) 40
qﬁ@?qvaﬁaﬁma‘f%éﬁnwaﬂrﬁm%,ﬁwﬁmaﬁ%mﬁﬁm@?ﬁﬁwﬁ
st % e B

Ay 90° (®)  50° © 70 (D) 40°

If four sides of a quadrilateral ABCD are tangential to the circle as shown in the fig, then :
D c

N
-

(A)  AC +AD=BD+CD (B) AB+CD=BC+AD
(C) AC+AD=BC+BD (D)  AB+CD=AC+BC
2 forell =g ABCD # e weh et 1 v Yl €, S et # femrn T, @

C

7
N

A

B
(A) AC+AD=BD+CD (B) AB+CD=BC+AD
() AC+AD=BC+BD (D) AB+CD=AC+BC
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Ay 3:2 ® 2:3 © 3:5 @) 2:5
T@rEs ABF farg P gRI foRdl T farsism @1 ST (A #) ¥ :

(a) 3:2 B 2:3 © 3:5 ®) 2:5

The ratio of the total surface area of a solid hemisphere to the square of its radius is :
(A),  2m:1 (B) 3m:1 (€) 4yl (D) 1:4w

T I S G TS ke 1 S e & ol A e ¥

A)  2w:1 (B) 3w:1 © 4m:1 (D) 1:4w

The diameters of two circles with centres A and B are 16 cm and 30 cm respectively. If
area of a circle with centre C is equal to sum of areas of the other two circles, then the
circumference of the circle with centre C is :

(A) 46mcm (B) 28 mem (€) 34mcm (D) 32mcm

Q1 9, R 5 A 7o B , 3 16 AR 16 cm 7130 cm ¥ | afg C %5 a1 I T &EA
S 2 g & et 3 A & SRR A C e T g R R

(A) 46wcm (B) 28 mecm © 34mwcm (D) 3R2mwem

In the given figure, if AD=7 /3 m, then BCis equal to :
A

30° 607
B D C
(A) 14m B 7m © 29m ©) 28m
& T el #, AR AD=7 VEm & ABCHFHAMR :
A

30° 60%

B
(A) 14m (B 27m © 29m (D) 28m
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13.

14.

15.

16.

The probability of getting a perfect square number from the numbers 1 to 10 is :

@ % ® % © % )L
1910 7 =1 wemeli # | w i ol e o e ¥
@ Ho ® Y% © % o %

SECTION-B / @Ug-a

Question numbers 11 to 18 carry 2 marks each.
WY WA 11 | 18 ek TS Uv &Y 3eh &

If the equation kx2—2kx + 6 = 0 has equal roots, then find the value of k.
fy AT k2 — 2Kk + 6= 0 % T A ¥, W k F A T HI0 |

‘Which term of the A.P. : 120, 116, 112, ..... is its first negative term.
AP, :120,116, 112, ..... %1 1781 Teell T8 FONHE & ?

ABC is an isosceles triangle in which AB=AC which is circumscribed about a circle as

shown in the figure. Show that BC is bisected at the point of contact.
A

Z C
ABC@?W&H@W%,WAB:AC %, < w99 & wfor s T ¥, S enfa 7
ferr T ¥ 1 <t R e forwg , BC o wfgeIid HE & 1

A

B z <

If the perimeter of a protractor is 72 cm, calculate its area. (Take = 22/7)

7f e =R (M¥Eg) 1 URAM 72 cm ¥, W SHH ATEA T HIC | (7 = 27—2?ﬁﬁnz|)

A metallic sphere of total volume m is melted and recast into the shape of a right circular
cylinder of radius 0.5 cm. What is the height of cylinder ?
gxammwma@maahﬁwoscmﬁmwwwmﬁﬁ?mm%l Eal

it S D

Find the point on the x-axis which is equidistant from the points (2, —5) and (—2,9).
- 78 T 9 Féig T HIRY, S fargadi (2, —5) @1 (—2, 9) | WG €1
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18.

19

20.

21.

22,

Prove that the points (2, —2), (=3, 8) and (—1, 4) are collinear.
g I foF farg 2, —2), (=3, 8) 74T (—1, 4) T €1

A bag contains 6 red, 3 black and 6 white balls. A ball is selected at random from the bag.
Find the probability that the selected ball is :

(a) red or black

(b) not black

ww A H 6 e, 3 el a9 6 Ghe e €1 9 ¥ § s e Fgeed I w1 wifdea 9
() T A wE ¥
(b)y TR
OR / 37erat
Two dice are thrown together. What is the probability of getting a doublet ?

wﬁawwwwwa 1 T g (doublet) T T Wifarehal 711 & 2
SECTION-C / @Us-8

Question numbers 19 to 28 carry 3 marks each.
T HEAT 19 | 28 Tk WeAkeh WY 3 3k HT &1

Find the roots of the equation ax2+a=a2x +x

W"Iax2+a=a2x+xa7‘13mﬁaﬁﬁﬂll
OR / 3teran

Solve for x:43/3 x2+5x—2+/3 =0

x % ToI0 &l R 2443 x24+5x—243 =0

TR IO 4,9, 14 ..o , 254 %1 37d 9 10 A W T FIfIC |

Prove that the intercept of a tangent between a pair of parallel tangents to a circle subtend a
right angle at the centre of the circle.

g wifog ff & aaiw oo el & o e ot T Y @ srEfed um ga % FR W
HHRIT AT E |

OR / reram
Two tangents TP and TQ are drawn to a circle with centre O, from an external point T.

Prove that ZPTQ=2 ZOPQ .
fereht e formg, T A O g 910 0 W TRl Y@rd TP A TQ Wi+ Wi ¥ 1 fag wfew f

ZPTQ=2 ZOPQ?I

Construct a triangle with sides 5 cm, 6 cm and 7 cm and then construct another triangle

whose sides are % times the corresponding sides of the first triangle.
e At R T SIS et e 5 cm,6 cm 7917 em €1 f U o1 e 1w
Fifsre foret yomd g FIe 1 qaTedt snsi %q—«m
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26.

27.

ABCP is a quadrant of a circle of radius 14 cm. With AC as diameter a semicircle is drawn.

Find the area of the shaded region (take = 27—2)

B c
14 em T390 161 990 1 ABCP U 9qiet €1 AC 1 o419 9 o U SAefege amn T )

e T 7 A T FR (n=§aaﬁrq.)

The radii of two right circular cylinders are in the ratio of 2 : 3 and their heights are in the
ratio of 5 : 4. Calculate the ratio of their curved surface areas and ratio of their volumes.

A el Fefta Ao Y Fronsh F 23 i SR & qu ST S W 52 4 % S ¥ TR
5 IS G Q1 SR H ST 6 B |

OR / 37eram
A toy is in the form of a cone mounted on a hemisphere of common base of diameter 7 cm.

If the height of the toy is 15.5 cm, find the total surface area of the toy [Take ™= %] .
T fael sid W semif @ Wi % SR w1 § e swafts = 7 om 81 AR
f@f«ﬁﬁaﬁ*ﬁﬁls.hm%ﬁﬁaﬁﬁmwmmmaﬁaﬁﬁm( =27—Zﬂﬁﬁrqt).

An observer 1.5 m tall is 28.5 m away from a chimney. The angle of elevation of the top of
the chimney from his eyes is 45°. Find the height of the chimney.

1.5 m 1 T J9F TF o 4 285 m H G W A Yvek w0 ot @ Pt & forew
S 0 45° %, A Ferwedt A Serd T FAC)

Find the ratio in which the point (-3, p) divides the line segment joining the points
(=5, —=4) and (-2, 3). Hence find the value of p.

% HIUIE F Hiorg o fag (-3, p), foigeli (=5, —4) 721 (-2, 3) I frem a©! Y@rEe H
el ¥ 1 37 p H A T HIC |

Prove that the diagonals of a rectangle with vertices (0, 0), (a, 0), (a, b) and (0, b) bisect
each other and are equal.

fag i fow it (0, 0), (a, 0), (a, b) 7T (0, b) ATH 3T F forol wom & Ao TH T HY
wufgwfer s €1
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30.

31

32.

A card is drawn at random from a well - shuffled deck of 52 playing cards. Find the
probability that the card drawn is :

(i) either a spade or an ace

(ii) a black king

52 7l w1 Wt 7 A B T W ¥ o ArgesAn Fenren | Wit i i i freren

T O
(i) o o @
(i) N SREE ¥

SECTION-D / @Us-g

Question numbers 29 to 34 carry 4 marks each.
T WA 29 W/ 34 T TAH I AR 3k HE|

A train takes 2 hours less for a journey of 300 km if its speed is increased by 5 km/hr from
its usual speed. Find the usual speed of the train.

T W F I, SHRT HA M F 5 km/hr TG W T8 300 km FH A0 T FA H 2 6 FH
AR T 1 XS H e T @ B |

OR / 312
A shopkeeper buys a number of books for Rs. 1200. If he had bought 10 more books for
the same amount, each book would have cost his Rs. 20 less. How many books did he
buy ?
T GHMER A 1200 T. W B Toeh @ | afg 363 36t o 7 10 siferen geadh @dd e, @

Yol J&deh 1 e 20 T H el I foherdt gk i 2

How many terms of the A.P. : 20,194,182 ............. should be taken so that their sum
Y GBS

is 300. Explain the double answer.

wAl A : 20,1914, 18%4
FRo +ft e

... & Fora g few S fo SRt 4 300 @11 S SRl

Prove that the tangent to a circle is perpendicular to the radius through the point of
contact,

g Fife for 97 % wa forg W it ¢ woel Y, oot farg @ ST @t e W o it @1

A rectangular sheet of paper of dimensions 44 cm X 18 cm is rolled along its length and a

cylinder is formed. Find the volume of the cylinder so formed (use w= 2772)

44 cmx 18 cm el AT U STHAHR FATS B EIE SR TR TF Ao S T
T4 WHR S A T ST T FIA | (= %Eﬁﬁr‘zl)

OR/ s¥erar

A solid right circular cylinder has a total surface area of 462 sq. cm. Its curved surface area

22
is one-third of its total surface area. Find the volume of the cylinder (use 7= - )
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T Y o FF e HFA TOE S 462 T A T 1 IqH Tk T8 1 AR, IqH
WWWW%W%IWWWWWI (= 373%\)

An open container made up of a metal sheet is in the form of a frustum of a cone of height
7 em with radii of its lower and upper circular ends as 4 cm and 10 cm respectively. Find
the cost of oil which can completely fill the container at the rate of Rs. 50/litre.

(Take 7= 27—2 )

FR Y G UG H AR Y T G HA U F o AR w @ et F9E 7 om iR
et aen St gt fodl i Band ST 4 cm 99110 cm 1 50 %,/ fere Y < @ firer At

%aﬁaﬁaﬁwﬁmmaﬁaﬁﬁm@:%faﬁm)

From the top of a tower the angle of depression of an object on the horizontal ground is
found to be 60°. On descending 20 m vertically downwards from the top of the tower, the
angle of depression of the object is found to be 30°. Find the height of the tower.

T AR & ¥ & st 7o W feam T a5 H STeTEA w0 60° R 1 9 @ 20 m. AE A

SR R g 1 ST 01 30° ¥ 1 HIAR Y S T R |

-000-
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